Nearest 10 Nearest 100 Nearest 100 000 Nearest | 000 000
1560 719
370 821
560 225
240 123
10% of 130= __ 20% of 130= __ 30% of 130= __
SRR X10 +10 x 100
2 507- 100 =
3 180+ _ =4 5.09
L h2x 6= 54
5  I/3.0f 2bkm =
6. 2/3 of 2kkm = >4
7. I/ 6 of 180m = 5.009
8  5/6.0f 18%km =
Quick Starts
Nearest 10 Nearest 100 Nearest 100 000 Nearest | 000 000
1560 719
370 821
560 225
240 123
10% of 130= __ 20% of 130= __ 30% of 130= __
R X10 <10 x 100
2 507- 100 =
3 180+ _ =9 5.09
L h2x 6= 5q
5 1/3.of 2ukm =
6. 2/3.of 2bkm = >4
7. I/ 6 of 180m = 5.009
8  5/6.0f 180km =




Nearest 10 Nearest 100 Nearest 100 000 Nearest | 000 000
463 823
213 587
109 345
345 012
10% of 160= __ 20% of 140= __ 40% of 160= __
Lo el X10 +10 x 100
2 507-100=
3 900+ _ =4 2.09
b 2bx 6= 29
5 I/3.0f %m =
6. 2/3.0f %m = 20.4
7. I/ 6 of 240m = 2.009
8  5/6.of 240km =
Quick Starts
Nearest 10 Nearest 100 Nearest 100 000 Nearest | 000 000
463 823
213 587
109 345
345 012
10% of 140= __ 20% of 140= __ L0% of 140= ___
Lo ol H0ss X10 +10 x 100
2 507-100=
3 900+ __ =4 2.09
b 2bx 6= 24
5 I/3.0f %m =
6. 2/3.0f %m = 20.4
7. I/ 6 of 240m = 2.009
8  5/6.of 240km =




Nearest 10 Nearest 100 Nearest 100 000 Nearest | 000 000
546 982
518 23l
315 275
813 213
10% of 210= __ 20% of 210= __ 40% of 210= __
Lo ol 808 X10 +10 x 100
2 587-100=
3 270+ _ =4 3.049
b 2lx 6= 39
5  I/3.0f 33%m =
6. 2/3.of 33m = 30.4
7. I/ 6 of 30m = 3.009
8  5/6.of 30km =
Quick Starts
Nearest 10 Nearest 100 Nearest 100 000 Nearest | 000 000
546 982
518 23l
315 275
813 213
10% of 210= __ 20% of 210= __ 40% of 210= __
Lo ol 80 X10 +10 x 100
2 587-100=
3 270+ _ =4 3.09
b 2k 6= 3.9
5 I/3.0f 33%m =
6. 2/3.0f 33m = 30.4
7. I/ 6 of 30m = 3.009
8  5/6.of 30km =




Nearest 10 Nearest 100 Nearest 100 000
1560 719
370 821
560 225
240 123
X0 =10 Ix 100
.09
.9
Quick Starts
Nearest 10 Nearest 100 Nearest 100 000
L63 823
213 587
109 345
345 012
X0 +10 Ix 100
2.09
2.9
Quick Starts
Nearest 10 Nearest 100 Nearest 100 000
546 982
518 23|
315 275
813 213
X110 +10 Ix 100
3.09

3.9




